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Nog

  


 


Nog

   
finns det mål och

   

 

finns mål

 

me - ning

 

 

me - ning

  
i vår

  

 

vår


färd,





färd,

  
men


 

  


men













S

A

B

  
det är vä -

  

 

är vä -

  
gen som är

  


 

gen som

  
mö - dan värd.

  

  
mö - dan värd.

  
Det

  

  


Det

  
bäs - ta må -

  

  
bäs - ta må -

  
let är en

  

 

let är

  
natt - lång rast

 




natt
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
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